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Fusnuazvesilym  unilywiereezlildwunvey Troarsudezth lundamusudting
uonuesiuudusiely
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FEMINARIAYENILY Multiplicative Congruential Method ~ 9HANAANY LN
MNTUMT |
X,=@X,)mod M ,i=1,23,..
A N
iife X, Whunve{udai i
X, WusnavuFudy
d d
a ithunmn
- ¢ a
mod M MI10D3 M1 (a X,) ¥1IAW M ounaznandenuiloy
1 4 ] v o« 4 - )
i M aviindersfaiiuinuguuenvgudadalilfe x,  onaumail x ifeiFu
X, (HuAnTudu(initial value 138 seed) 92 1AdARYAY X, X, , X, .. MudIWY
. d 0 » r 1 o o « d ' 4
dhuovsnauduiidiogzzndie o 84 M1 AdanvuitidSund lidedles  dims
v Y] - ] o -~ 1 o
finuail M, a unz X, Selinnudglumsndainvdy  Tasmasfiesndmavguinil
: 1 V [ 4 od
msusnusatpueduaneluyaE,) - desdmuam M Wilswesd s ngin
4 d 4 - o b A '
aaunzifhunedl Aensadusldnnnissneufiamed  Tasii M=2  1ile b (flum
a : 3 aimnd 2 it 4 b
AWML 1 word MTe$IMAM bie Tu 1 word YBuRTBIRBNRAAGT 32 bit T4 bit At
v 4 v— o 1
1ot WdmTvunaunTesnuny AviuavimnuAuingiiqelu 1 word  uauifiu
od - /Yy 4 b-1 " v 31 ¢ a Ve
nuhfineuRunef1dTufis 2 -1 mIdU 2 -1 =2147483647 Wuflenr M A23liAunIiy
-~ « ] - Jd ] . U
2147483647 mMInAaRununyesds i IdHIumImansuudedraunesdinuan a

v 3 ' o . ) P d
i 7 = 16807 Auilusnai uasar x, daudhuavsunudmnniiduovd

nniimmndanvguanafouTbsunsufsdiumsndranvgy  Taold
mymedungy sl '
PUNTION RAND(IX)
IX=IX*16807
IF (IX) 1,2,2
1 IX=IX+2147483647+1
2 RAND=RAND/2147483647
RETURN
END
Tusunruiadsu RAND@X) Tre Ix diudnavaududuisudmnluiadsude
vz 8% unvey RAND #ili s,
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&ufu B = zlz + z: oxiinisuonueuy lntiin29(Chi-square Distribution)
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ATennIeuaIvesmonunuulng oz 14 6 finrsusnieanuy
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e 18inveuitiin1sionuoeilnAuasg n(Standard-Normal Distribution) uévh
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Wenvumnsgue fatt
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SUBROUTINE NORMAL(AMEW,SIGMA , ANORM)
COMMON/SEED/IX,KK
. PI = 3.1415927
IR (KK.BQ.1) GOTO 10
RONE = RAND(IX)
RTWO = RAND(IX)
ZONE = SQRT(-2*ALOG(RONE}))*COS(2*PI*RTWO)
ZTWO = SQRT(-2*ALOG(RONE))*SIN(2*PI*RTWO)
ANORM = ZONE*SIGMA+AMEW
KK =1
GOTO 20
10  ANORM = ZTWO?*SIGMA+AMEW
KK =0
20  RETURN
END

nindniougiitinrauenioscenueisen

Fuusnhmandamyguitinausnusalnd delinvguiendrudatims
uuasnaveiy Wiunvguiidmsuonusnenuefuen AlAnndvves i X uns
Womnanasguves n X @ p uaz o mudwy ninftdsudd

X = EXP(Z O + )
WllunsuitWathaivgud afsusail
ALOGN = EXP(ANORM)

nmandnicvganiinianonueslodadia

oz ¥inatinnsudawniuTasazson

FO) = 14 g ovF

Taeit By ifhuavgudifimanonuossaiuruesas,1) 'luﬁfﬁ#ﬁtuﬁ'nmﬁﬂu
R UINY F(x)
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Mmandass WifhunvduitinmsuenussTadadn Alwindined o uns p
X = -B (In(1-R)-InR) .+ o
Tsunsudori 1 lumsadranvguitdmaueniesTodadn  Ainmiinef o
unz p fie
SUBROUTINE LOGIST(ALPHA BETA,GISTIC)
COMMON/SEED/IX
111 R = RAND((IX)
IR ((R.LE.0).OR.(R.GE.1.0)) GOTO 111
GISTIC = -BETA*ALOG(1-R)-ALOG(R))+ALPHA
RETURN
END

nmlizanamntinedis udude 38 Tumiud

MR e Tumug
X diudlsguusansueniies

o
w DT r voe x

of v )
M. 1u sy r upasiange

T
- r
# =B
. Xi 4 » 3
uny M, = 2,=-  iiie n Hluviadaeon
= N

Ww =M e =123,
vinnEnmsilszhammsSinedidud 2 swxld
By = M,
s W, = M,
ufeumammdssinamniime 8 S udulumniizng
fiwe U ‘
'hhumudnoﬁ'lﬂumiﬂs:u1m1'1n‘i‘ué’udmi’umnwmmﬂni .
SUBROUTINE MOMENT(N,XMEW0,XSIGO0)
COMMON/SAMP/X(500)
- SUMX=0.0
SUMX2=0.0



10

DO 10 I=1,N
SUMX=SUMX+X(T)
SUMX2=SUMX2+X(1)**2)
CONTINUR

EX = SUMX/N

VARX = (SUMX2-(SUMX**2/N))/(N-1)
XMEWO = BX

XSIGO = SQRT(VARX)

RETURN

END

' o ) .- v
Tusunyutioon 1yl suanTududimdumsuonisinenuoiuen

10

SUBROUTINE MOMENT(N XMEW0,XSIGO0)
COMMON/SAMP/X(500)
SUMX=0.0
SUMX2=0.0
DO 10 1=1,N
SUMX=SUMX+X()
SUMX2=SUMX2:+HX()**2)
CONTINUE
EX=SUMX/N
EX2=SUMX2/N
BSIGO = ALOG(EX2)-2*ALOG(EX)
XSIGO = SQRT(BSIGO)
XMEWO0 = ALOG(EX)-(BSIG0/2)
RETURN
END

1 od ' .- v -
Tdrunsudoon [Wlumadrznanisududmiunisuonus Tadadn

SUBROUTINE MOMENT(N,ALPHAO0,BETAO)
COMMON/SAMP/X(500)
PI = 3,1415927

- Hl1
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SUMX = 0.0
SUMX2 = 0.0
DO 10 I=1,N
SUMX = SUMX+X(I)
SUMX2 = SUMX2+X(T)**2)
CONTINUR
EX=SUMX/N
EX2=SUMX2/N
BBETA = 3%(EX2-(EX**2))/PI**2)
ALPHAO = BX
BRTAQ = SQRT(BBETA)
RETURN
BND
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Tdsunsulumydyzsinaisimindmedvesnmnienusanntdomrsuuuing

4 - 5 ' -
dedoyannudumiognandnoniasdn  Aedimnliznam 3 3ife ML,

o
MD une MWD A4l

Cl"l‘..‘....lll....l‘l

C MAIN PROGRAM-1

C.".‘.l..l.l..ltlllt..

COMMON/SEED/IX,KK

L 3

*

[PAR1/AMEW SIGMA XMEW0,XSIGO

/[FACT/XD,XM,N

/SAMP/X(500)

/SIM/FQ(500),F(500)

/SUMM/SUMMW (3),SUMSG(3),SUMMW1(3),SUMSGI(3),
SUMMW2(3),SUMSG2(3)

/NARI/VARMW(3),VARSG(3),BIASMW(3),BIASSG(3),
VMSEMW(3),VMSESG(3),BIASM(3),BIASS(3)

/VAR2/AMSE(3),RMSE(3) RELMW(3) RELSG(3),REL(3)

[INDEX/DIFG,NOTG

CHARACTER DIFG*1 NOTG*1

N=70

XD=0.2

XM=15.0

PC=0.2

AMEW=10.0

SIGMA=2.0

X=103

IR=1000
* KK=0
DO 710 IKK=1,3

SUMMW(IKK) = 0.0
SUMSG(IKK) = 0.0
SUMMWI(IKK) = 0.0
SUMSGI(IKK) = 0.0
SUMMW?2(IKK) = 0.0



SUMSG2(IKK) = 0.0
710 CONTINUE
WRITE(6,25)
WRITE(6,515) AMEW,SIGMA
WRITE(6,51) N,PCXD XM
DO 100 IZ=1,IR
NUM1=0
NUM2=0 -
NPC=INT(N*PC)
NNaN-NPC
IDIFG=0
1 DO 15 I=1,N
5 CALL NORMAL(AMEW SIGMA ,ANORM)
ANOR=~ANORM
IF (ANOR.LEXD) GOTO §
IF (ANOR.LE.XM) THEN
IF (NUM2.GE.NN) GOTO §
NUM2=NUM2+1
X(1)=ANOR
ELSE
IF (NUM1.GE.NPC) GOTO §
NUM1=NUM1+1
X(I)=XM
END IF
15 CONTINUE

COl...lﬂttil..llt!l‘lllm ‘{EADQ.Q“‘“.....'Q

CALL SORT(N)
CALL CDFEMP(N)
CALL MOMENT(N XMEW0,XSIG0)
IF ((XMEWO0.LE.0).OR.(XSIG0.LE.0)) THEN
NUM1=0
NUM2=0
GOTO 1
END IF
MAX=50
DIFG='N'
NOTG='N’
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CALL MLE(MAX XMEW 1 XSIG1)
IF ((DIFG.EQ.'Y").OR.(NOTG.EQ.'Y")) THEN
NUM1=0
NUM2=0
GOTO 1
END IF
CALL MDE(MAX XMEW2,XSIG2)
IF (DIFG.EQ.'Y").OR.(NOTG.EQ.'Y")) THEN
~ NUM1a=0
\NUM2=0
GOTO 1
END IF
CALL MWD(MAX XMEW3 XSIG3)
IF (DIFG.EQ.'Y").OR.(NOTG.EQ.'Y")) THEN
NUM1=0
NUM2=0
GQOTO 1
END IF
SUMMW(1) = SUMMW(1)4XMEW1
SUMMWI(L) = SUMMWI(1)+(XMEW 1#92)
SUMSG(1) = SUMSG(1)+XSIG1
SUMSGI1(1) = SUMSGI(1)+(XSIG1**2)
DIFER| = ABS(XMEW 1-AMEW)
DIFER2 = ABS(XSIG1-SIGMA)
SUMMW2(1) = SUMMW2(1)+DIFER]
SUMSG2(1) = SUMSG2(1)+DIFER2
R L T T AP PP PP PP PN
SUMMW(2) = SUMMW (2)+XMEW2
SUMMWI(2) = SUMMW 1(2)+(XMEW2**2)
SUMSG(2) = SUMSG(2)+XSIG2
SUMSGI1(2) = SUMSG1(2)+(XSIG2**2)
DIFER3 = ABS(XMEW2-AMEW)
DIFER4 = ABS(XSIG2-SIGMA)
SUMMW2(2) = SUMMW2(2)+DIFER3
SUMSG02(2) = SUMSG2(2)+DIFER4

CD..!“."..-l...lt-tl--'-.!'.t---l‘-.tﬂﬁ

SUMMW(@) = SUMMW(3)+XMEW3



SUMMWI(3) = SUMMW 1(3)+(XMEW3%*2)
SUMSG(3) = SUMSG(3)+XS1G3
SUMSG1(3) = SUMSGI(3)+(XSIG3**2)
DIFERS = ABS(XMEW3.AMEW)

DIFERG = ABS(XSIG3-SIGMA)
SUMMW2(3) = SUMMW2(3)+DIFERS
SUMSG2(3) = SUMSG2(3)+DIFERS

CooB L300 NS IREIRRABNIRERFQRIOSRBUDBRNBS &N

100 CONTINUE

711

DO 711 )=l 3
YARMW(IJ) = (SUMMW 1(1J)-(SUMMW/(LJ)**2)/IR)/IR
VARSG(IJ) = (SUMSG1(1J)-(SUMSG(1J)**2)/IR)/IR
BIASM(1)) = SUMMW (IJ)/IR-AMEW
BIASMW(U) = BIASM(LI)**2
BIASS(LJ) = SUMSG{LJYIR-SIGMA
BIASSG(J) = BIASS(1i)**2
VMSEMW(J) « VARMW(II)}+BIASMW(II)
VMSESG(IJ) = VARSG(IJ }+BIASSG(L)
AMSE(}) = (VMSEMW )+ VMSESG(11))2
RMSE() = SQRT(AMSE(L))
RELMW(U) = SUMMW2(LI)/AMEW
RELSG(lJ) = SUMSG2(LJ)/SIGMA
REL() = (RELMW(IMRELSG(U)A2*IR)
CONTINUE |

C*****WRITE OUTPUT OF NORMAL DIST.*#*3ssssss

C.Q...l.lttllll‘l.t..Ul‘.“ll.l..lt.“‘...‘...l't.l-.‘

Cl.ll...‘.“..‘l’.l‘!.t*l.tll‘tt‘Ql.‘.l‘.".lﬁl“l‘..‘

WRITE(6,52)

WRITE(6,65) VARMW(1),VARSG(1),BIASM(1),BIASS(1)
*  ,VMSEMW(1),VMSESG(1),AMSE(1),RMSE(1)

WRITE(6,655) SUMMW2(1),SUMSG2(1),RELMW(1)
* RELSG(1),REL(])

WRITE(6,521)

WRITE(6,65) VARMW(2),VARSG(2),BIASM(2),BIASS(2)

* VMSEMW(2),VMSESG(2),AMSE(2),RMSE(2)
WRITE(6,655) SUMMW2(2),SUMSG2(2),RELMW(2)
* RELSG(2)REL(2)

116



WRITE(6,522)

WRITE(6,65) VARMW(3),VARSG(3),BIASM(3),BIASS(3)

*  VMSEMW(3),YMSESG(3),AMSE(3),RMSE(3)

WRITE(6,655) SUMMW2(3),SUMSG2(3) RELMW(3)

*  RELSG(3)REL(3)
C!..O‘..t."..lll"ll.Olll.t‘l.IQOQ....O..“I..‘..".‘
25 FORMAT(14X,'** NORMAL DIST.**)

51 FORMAT(7X,'SAMPLE SIZE~']4,2X,PC.=',F4.2,2X /DEDUC.='F4.1

*  2X/MAX='FS.1)

515 FORMAT(7X,PAR.MEW 'F9.6,2X,SIGMA *F9.6)

52 FORMAT(10X,**MAXIMUM LIKELIHOOD**")

521 FORMAT(11X,**MINIMUM DISTANCE**")

522 FORMAT(8X,**MINIMUM WEIGHT DISTANCE®*’)

65 FORMAT(SX, VAR(MEW) = E15.6,3X,'VAR(SIGMA) =E15.6/

* SX/BIAS(MEW)='E15.6,3X 'BIAS(SIGMA)='E1S.6/

* $X,/MSE(MEW)="E15.6,3X, MSE(SIGMA )="E15.6/

« $X 'MSE='E15.6,3X,RMSE="E15.6)

655 FORMAT(SX,ABS(MEW)='E15.6,3X, ' ABS(SIGMA)='E15.6/

*  SX,/REL(MEW)='E15.6,3X REL(SIGMA)="E15.6/

* S5SX/REL='E15.6)

200 STOP

END

lac LALIT YRS DU LT LY SINE A

C RANDOM NUMBER
Cressassassneraesnstar
FUNCTION RAND(IX) -
DXaIX*16807
IF (IX) 1,2.2
1 IX=IX+214748364741
2 RANDaIX
RAND=RAND/2147483647
RETURN
END

CQ.-...l‘t.“...tl'.tl.t.‘l'l‘.

C NORMAL DISTRIBUTION

CHEFERARRERERRREREIIRERREENRKES

SUBROQUTINE NORMAL(AMEW SIGMA , ANORM)

117



COMMON/SEED/IX,KK
Pi=3,1415927
IF (KK.EQ.1) GOTO 10
RONE=RAND(IX)
RTWO=RAND(IX)
ZONE=SQRT(-2* ALOG(RONE))*COS(2*PI*RTWO)
ZTWO=SQRT(-2* ALOG(RONE))*SIN(2*PI*RTWO)
ANORM=ZONE®*SIGMA +AMEW
KK=]
GOTO 20
10 ANORM=ZTWO*SIGMA+AMEW
KK=0
20 RETURN
END

CHEPELIBAIBLSFERIBRLFCIRD

C  SHELL SORT
COOrINERINTEISRISEELAIRSE
SUBROUTINE SORT(N)
COMMON/SAMP/X(500)
JUMP=N
10 JUMP=JUMPR2
IF (JUMP.EQ.0) GOTO 90
12=N-JUMP
DO 30 J=1J2
I=]
20 J3=i+IUMP
IF (X(J).LEX(J3)) GOTO 30
HOLDa=X(I)
X(Iy=X(J3)
X(J3)=HOLD
Ial-JTUMP
IF (L.GT.0) GOTO 20
30 CONTINUE
GOTO 10
90 RETURN
END

Cl.“tll!ll‘!.‘lttl‘.l.‘#t.

118



C CDF.OF EMPIRICAL
Crosusassssnssnsrsrasnassss
SUBROUTINE CDFEMP(N)
COMMON/SAMP/X(500)
* SIM/FQ(500),F(500)
NUM = 1
5 FQINUM) =1
DO 10 [«NUM.N
J w14l
IF (J.GT.N) GOTO 20
IF (X(I).EQ.X(J)) THEN

FQ(NUM) = FQ(NUM)+1

ELSE
GOTO 4
END IF
10 CONTINUE
4 NUM=I
GOTO 5
20 M=l
JUMP = 1
30 K =JUMP
~ IF JUMP.GT.N) GOTO 40
L = JUMP-M
IF (L.EQ.0) THEN
F(K) = FQ(K)/N+L
ELSE
F(K) = FQ(K)/N+F(L)
END IF
M = FQ(K)
JUMP = JUMP+M
DOSOI=1N

IF ((1.GE.K).AND.(LLTJUMP)) THEN

F(I) = F(X)
FQ() = FQ(K)
END IF
50 CONTINUE
GOTO 30
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40 RETURN
END

CrrsrIsEsabiRRERsssRARUIRERIRRERRERRIRARRRANSE

C  INITIAL VALUE OF MEW AND SIGMA BY USE

C METHOD OF MOMENT FOR NORMAL DIST.

ol L L L L YT T P L L TP P PP Y PP P PP P PP PP ees
SUBROUTINE MOMENT(N XMEW0,XSI1G0)
COMMON/SAMP/X(500)

SUMX=0.0

SUMX2=0.0

DO 10 I=1 N
SUMX=SUMX+X(I)
SUMX2aSUMX2+(X()**2)

10 CONTINUE
EX = SUMX/N
VARX = (SUMX2-(SUMX**2/N))AN-1)
XMEW( = EX
XS1G0 = SQRT(VARX).

RETURN
END

o L N Y Py A T Pr Y

Cc ESTIMATION OF THE PARAMETERS BY

C METHOD OF MAXIMUM LIKELIHOOD

C FOR NORMAL DIST.

o T T PP TP PP PR PR DR PP P TR P
SUBROUTINE MLE(MAX XMEW 1, XSiG1)
COMMON/PAR1/AMEW SIGMA XMEWO0,XSIGO
. FACT/XD XM.N
* /SAMP/X(500)

. /INDEX/DIFG,NOTG
CHARACTER DIFG‘I,NGPG'IK
PO = XMEWO0
RO = XSIGO
IC=a0
DO 20 J=1 MAX
IF ((PO.LE.0).OR.(RO.LE.0)) THEN
DIFG = 'Y’
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GOTO %0
END JF
CALL COMPGI1(PO,RO,BEG1,BEG2,BEG11,BEG12,BEG22)
IF (DIFG.EQ.'Y") GOTO %0
G1=0.0
G2=0.0
Gl11=0.0
G12=0.0
G21=0.0
G22=0.0
SDIF1=0.0
SDIF2=0.0
SDIF11=0.0
SDIF12=0.0
SDIF21=0.0
SDIF22=0.0
[C=IC+1
DO 10 I=1,N
ZX = (X(1)-PO)/RO
DIF1 = ZX/RO
DIF2 = (ZX**2-1)/RO
DIF12 = (-2*ZX)/(R0**2)
DIF22 = (-1*(3%*(ZX**2)-1))AR0**2)
SDIF1 = SDIF1+DIF1
SDIF2 = SDIF2+DIF2
SDIF12 = SDIF12+DIF12
SDIF22 = SDIF22+DIF22
10 CONTINUE
SDIF11 = -1*NARO**2)
SDIF21 = SDIF12
Gl = SDIF1+BEG!1
G2 = SDIF2+BEG2
G11 = SDIF114+BEGI1
G12 = SDIF12+BEGI12
G2l = G12
G22 = SDIF22+4BEG22
DET = (Q11*Q22)-(G12*G21)
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G21 = G12
G22 = SDIF224BEG22
DET = (G11*G22)-(G12*G21)
IF (DET.EQ.0) THEN
DIFG = 'Y’
GOTO 90
END IF
PP = (G12*G2)-(G22*G1)
RP = (G21*G1)<G11*G2)
P1 = PP/DET+4P0
Ri = RP/DET4R0
IF ((ABS(P1-P0).LT.0.001).AND.(ABS(R1-R0) LT.0.001)) THEN
GOTO 80
ELSE
PO = P]
RO = R1
END IF
IF (IC.GE.MAX) THEN
NOTG = 'Y’
GOTO 90
END IF
20 CONTINUE
80 XMEWI =PI
XSIGI = R1
90 RETURN
END

Ct“...!ll"'.!llt.lﬂt"l‘..l‘

C COMPUTING VALUE G
CHEsUSRIARRSRASRRINRRBRERARRES
SUBROUTINE COMPGI1(PO,R0,BEGI ,BEG2,BEG11,BEG12,BEG22)
COMMONFACT/XD XM,N
* - [INDEX/DIFGNOTG
CHARACTER DIFG*1,NOTG*1
ZM = (XM-PO)/RO
ZD = (XD-PO)/RO
ZC] = CDFN(ZM)



ZC2 = CDFN(ZD)
ZC = ZC1-ZC2
IF (ZC.EQ.0) THEN
DIFG = 'Y"
GOTO 99
END IF
ZP1 = PDFN@ZM)
ZP2 = PDFN(ZD)
PG1 = ZP1.ZP2
PG2 = ZM*ZP1.ZD*ZP2
PG3 = RO*ZC
PG4 = (RO**2)*ZC
BEGI = N*PG1/PG3
BEG2 = N*PG2/PG3
BEG11 = (PG2+(PG1**2)/ZC)*N/PG4
BBEG12 = (ZM**2-1)*ZP1<(ZD**2-1)*ZP2
BEG!2 = N*(BBEG124PG1*PG2/ZC)/PG4

BBEG22 = ZM *(ZM**2-2)*ZP1.ZD*(ZD**2-2)*ZP2

BEG22 = N*(BBEG22+PG2**2/ZC)/PG4
99 RETURN
END
Covsssresnssnaunrssrasrissrsonsssarrransasnns
C  ESTIMATION OF THE PARAMETERS BY
c METHOD OF MINIMUM DISTANCE
c - FOR NORMAL DIST.
CHsasasnansssesnsansessrssnrsesrsasasssisntas
SUBROUTINE MDE(MAX XMEW2XSIG2)
COMMON/PARI/AMEW SIGMA XMEW0 X SIGO
* [FACTXDXMN
s [SAMP/X(500)
. /SIM/FQ(500).F(500)
*  /INDEX/DIFGNOTG
CHARACTER DIFG*1,NOTG*1
P10 = XMEWO
R10 « XSI1GO
IC1 =0
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DO 20 ll=lMAX
IF ((P10.LE.0).OR.(R10.LE.0)) THEN
DIFG = 'Y’
GOTO 90
END IF
GG1=0.0
GG2=0.0
GG11=0.0
GG12=0.0
GG21m0.0
GG2220.0
SDF1=0.0
SDF2=0.0
SDF11=0.0
SDF12#0.0
SDF21=0.0
SDF2220.0
IC1=IC1+1
ZIM = (XM-PIO)RIO
Z1D = (XD-P10)RI10
ZIC1 = CDFNZIM)
Z1C2 = CDFN(ZID)
ZIC = ZIC1-ZIC2
IF (Z1C.EQ.0) THEN
DIFG = 'Y"
GOTO 90
END IF
ZIP1 = PDFN(ZIM)
Z1P2 = PDFN(ZID)
PIG1 = ZIP2-ZIPI
PIG2 = ZID'ZIP2ZIMZIPI
P1G3 = (Z1D**2)*Z1P2-(ZIM**2)*ZIP1
P1G4 = (Z1D**3)*ZIP2-(ZIM**3)*ZIP]
P1GSS = RIOYZIC**2)
P1GS6 = ((RIOSZIC)**2)*Z1C
DO 10 IM=1N
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P1X1 = F(IM)
IF (P1X1.EQ.0) THEN
DIFG = 'Y’
GOTO 90
END IF
Z1X = (X(IM)-P10)R10
Z1C3 = CDFN(ZIX)
Z1P3 = PDFN(Z1X)
PIGS = Z1P2-Z)P3
P1G6 = Z1C3-Z1C2
F1YX = P1G6/ZIC
F1Y = F1YX-P1X1}
P1G7 = Z1D*Z1P2-Z1X*Z1P3
P1G8 = (ZID**2)*Z1P2-(Z1X*%2)*Z1P3
P19 = (Z1D**3)*21P2.(Z1 X**3)*Z1P3

DFM = (Z1C*P1GS5-P1G6*P1CG1)/P1GSS
DFS = (Z1C*P1G7-P1G6°P1G2)/P1GSS
DFMM = (ZiC*(Z1C*P1G7-P1G6*P1G2)-2*P1Gl

*(Z1C*P1GS-P1G6*P1G1))/P13S56

DFMS = (Z1C*(Z1C*(P1G8-P1G5)+P1G1*P1G7

]

-P1G6*(P1G3-P1G1)-P1G5*P1G2)
-2*P1G1*(Z1C*P1G7-P1G6*P1G2))/P1GS6

DFSS = (Z1C%(Z1C*(P1G9-P1G7)-P1G6*(P1G4-P1G2))

)

-(2*P1G24Z1C)*(Z1C*P1G7-P1G6*P1G2))P1GS6

HIG! = 2*FIY*DFM

H1G2 = 2F1Y*DFS
HIGI1 = 2%(F1Y*DFMM+DFM®**2)
H1G21 = 2*(F1Y*DFMS+DFM*DFS)
HIG22 = 2%(F1Y*DFSS+DFS**2)
SDF1 = SDF1+H1G1

SDF2 = SDF2+H1G2

SDF11 = SDF11+H1G11

SDF21 = SDF21+H1G21

SDF22 = SDF22+H1G22
CONTINUE

GG1 = SDFI
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GG2 = SDF2
GG11 = SDF1]
' GG21 = SDF21
GGI2 = GG21
GG22 = SDF22
DET! = (GG11*GG22)(GG12*GG21)
IF (DET1.EQ.0) THEN
DIFG = 'Y’
GOTO 90
END IF
PP1 = (GG12*0G2)-(0G22°GG1)
RP1 = (GG21*GG1)-(GG11*GG2)
P11 = PP1/DET1+P10
R11 = RPI/DET14R10

IF ((ABS(P11-P10).LT.0.001).AND.(ABS(R11-R10).LT.0.001)) THEN

GOTO_SO
‘ELSE
" P10 = P11
R10 = R11
END IF

IF (IC1.GE.MAX) THEN
NOTG = 'Y’
GOTO 90
END IF
20 CONTINUE
80 XMEW?2 =P1l]
XSI1G2 = R11
90 RETURN
END
CoStssnsaRIenaNsnstsisnssntatassssssestatnens
C ESTIMATION OF THE PARAMETERS BY
C METHOD OF MINIMUM WEIGHT DISTANCE
C FOR NORMAL DIST.
COFASERIRISONUARRIEESEATRNIEOTRNSONSRRKTERARS
SUBROUTINE MWD(MAX XMEW3 XS1G3)
COMMON/PARI/AMEW SIGMA XMEWO0,XSIG0
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*  [FACT/XDXM,N
> /SAMP/X(500)
*  SIM/FQ(500),F(500)
*  /INDEX/DIFG,NOTG
CHARACTER DIFG*1,NOTG"*1
P20 = XMEWO
R20 = XSIGO
IC2 = 0
DO 20 J2=1,MAX
IF ((P20.LE.0).OR.(R20.LE.0)) THEN
DIFG = 'Y’
GOTO 90
END IF
GGG1=0.0
GGG20.0
GGG11=0.0
GGG12+0.0
GGG21=0.0
GGG22=0.0
SDI1=0.0
SDI2=0.0
SDI11=0.0
$DI12=0.0
$DI21=0.0
SDI22=0.0
JC2=iC2+1
Z2M = (XM-P20)/R20
22D = (XD-P20)/R20
Z2C1 = CDFN(Z2M)
Z2C2 = CDFN(Z2D)
Z2C = Z2C1-22C2
IF (Z2C.EQ.0) THEN
DIFG = 'Y"
GOTO 90
ENDIF
Z2P1 = PDFN(ZZM)



Z2P2 = PDFN(Z2D)
P2GI = Z2P2.Z2P1
P202 = Z2D*Z2P2-Z2M*Z2P1
P2G3 = (Z2D%*2)*22P2-(ZZM**2)*Z2P1
P2G4 = (Z2D**3)*Z2P2-(Z2M**3)*Z2PI
P2GS5S = R20%Z2C**2)
P2G56 = ((R20%Z2C)**2)*Z2C
DO 10 IMMs1 N
P2X1 = FAIMM)/{N+1)
P2X11 = N*P2X1
P2X12 = 1,0-P2X11
IF ((P2X11.EQ.0).0R.(P2X12.EQ.0)) THEN
DIFG = Y’
GOTO 90
END IF
P2X22 = P2X1"P2X12
Z2X = (X(IMM)-P20)/R20
Z2C3 = CDFN(Z2X)
Z2P3 = PDFN(Z2X)
P2GS = Z2P2-Z2P3
P2G6 = Z2C3.22C2
F2YX = P2G6/Z2C
F2Y = F2YX-P2X11
P2G7 = Z2D*Z2P2-Z2X*Z2P3
P2G8 = (Z2D**2)*Z2P2-(Z2X**2)*22P3
P2GY = (Z2D**3)*Z2P2<Z2X**3)°Z2P3
DIM = (Z2C*P2GS-P2G6*P2G1)/P2GSS
DIS = (Z2C*P2G7-P2G6*P2G2)/P2GSS
DIMM = (Z2C*(Z2C*P2G7-P2G6*P2G2)
* | .2%P2G1%(Z2C*P2GS-P2G6*P2G1))P2GS6
DIMS = (Z2C*(Z2C*(P2G8-P2G5)+P2G1*P2G7
b -P2G6*(P2G3-P2G1)-P2G5*P2G2)
*  .2'P2G1"(Z2C*P2G7-P2G6*P2G2))/P2G56
DISS = (Z2C*(Z2C*(P2G9-P2G7)-P2G6* (P2G4-P2G2))-(2*P2G24Z2C)
*  *(Z2C*P2G7-P2G6°P202))P2056
H2G1 = 2*F2Y*DIM/P2X22



10

20

H2G2 » 2*F2Y*DIS/P2X22
H2G11 = 2*(F2Y*DIMM+DIM®*2)[P2X22
H2G21 = 2*(F2Y*DIMS+DIM*DIS)P2X22
H2G22 = 2%(F2Y*DISS+DIS**2)P2X22

SDI1 = SDI1+H2G1 |
SDI2 = SDI2+4H2G2
SDI11 = SDI11+H2G11
$DI21 = SDI21+H2G2]
SDI22 = SDI224H2G22
CONTINUE
GGG1 = SDII
GGG2 = SDI2
GGO11 = SDII 1
GGG21 = SDI21
GGG12 = GGO21
GGG22 = SDI22
DET2 = (GQG11*GGG22)(GGG12°GAG21)
IF (DE’H..EQ.O) THEN :
DIFG = 'Y*
GOTO 90
END IF
PP2 = (GGG12*GGG2)-(GGG22*GGG1)
RP2 = (GGG21*GGG1)-(GGG11°GGG2)
P21 = PP2/DET2+4P20
R21 = RP2/DET24R20
IF ((ABS(P21-P20).LT.0.001):AND (ABS(R21-R20).LT.0.001)) THEN
GOTO 80
ELSE
P20 = P21
R20 = R21
END IF
IF (IC2.GE.MAX) THEN
NOTG =Y
GOTO 90
END IF
CONTINUE
XMEW3 = P21
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XSIG3 = R21
90 RETURN
END

CD‘I.OU.".O.!UU.IU..‘D.........Q‘.‘.

C PDF. OF Z, Z=(X-MEW)/SIGMA
oL LR T T Ty R Ty P TV Y TY TS
FUNCTION PDFN(Z)
Pl=3.141593
IF ((Z.GT.7.0).0R.(Z.LT.-7.0)) THEN
PDFN=0.0
ELSE
XXm-1*(Z**2)/2
PDFN=EXP(XX)/SQRT(2*PI)
END IF
RETURN
END

C‘l‘..l“‘l‘.‘.t‘l.‘l.‘.!ll.‘llt‘.‘lﬁ“l

C CDF. OF Z, Z=(X-MEW)/SIGMA
oLl L T R T PP Y Y Y LYY Y
FUNCTION CDFN(ZZ)
IF ((ZZ.GT.7.0).0R.(ZZ.LT.-7.0)) THEN
P=]1.0
ELSE
Z1 = ABS(ZZ)
T9 = 1X1.040.33267*Z1)
R = (EXP(-}.0%ZZ**2)/2))/2.5066282746
P = 1,0-(T9%(0.4361836-0.1201676*T9+0.937298%(T9**2)))*R
END IF
IF (ZZ.GE.0) THEN
CDFN=P .
ELSE
CDFN=},0-P
END IF
RETURN
END
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Tusunsudeedimrdszuanininlimes 3 3o ML, MD . uaz MWD ¥oams

NN NNREMBIUYA B fuen Rail
OO v asrr e ssra R R AN SRR R R RSOOSR EssORORITISORSS
C  ESTIMATION OF THE PARAMETERS BY
c METHOD OF MAXIMUM LIKELIHOOD
c FOR LOGNORMAL DIST.
Clllll“t.ltl‘!tl‘llllll‘l!tllllt.#“.l‘!."‘.!
SUBROUTINE MLE(MAX XMEW 1 XSIO1)
COMMON/PARI/AMEW,SIGMAJCMEW'O,XSIGO
*  [FACT/XDXMN
*  [SAMP/X(500)
»  /INDEX/DIFGNOTG
CHARACTER DIFG*1 ,NOTG*1
PO = XMEWO
RO = XSIGO
IC=0
DO 20 J=1,MAX
IF (RO.LE.0) THEN
DIFG = 'Y"
GOTO 90
END IF
CALL COMPG1(PO,R0,BEGI,BEG2,BEG11,BEG12,BEG22)
IF (DIFG.EQ.'Y") GOTO 90
G1=0.0
G220.0
G11=0.0
G12=0.0
G24=0.0
G22=0.0
SDIF1=0.0
SDIF2=0.0
SDIF11=0.0
SDIF12=0.0
SDIF21=0.0
SDIF22=0.0
ICaIC+1



DO 10 I=1,N
ZX = (ALOG(X(I))-POYRO
DIF1 = ZXR0
DIF2 = (ZX**2-1)R0
DIF12 = (-2*ZX)(R0**2)
DIF22 = (-1%(3*(ZX**2)-1))/(R0**2)
SDIF1 = SDIF1+DIFI
SDIF2 = SDIF2+DIF2
SDIF12 = SDIF124DIF12
SDIF22 = SDIF22+DIF22
10 CONTINUE
SDIF11 = -1*NARO**2)
SDIF21 = SDIF12
G1 = SDIF1+BEG!
G2 = SDIF2+BEG2
G11 = SDIF114BEG1}
G12 = SDIF12+BEG12
G21 = G12
G22 = SDIF224BEG22
DET = (G11*G22)(G12*G21)
[F (DET.EQ.0) THEN
DIFG = 'Y’
GOTO 90
END IF
PP = (G12*G2)-(G22*G1)
RP = (G21*G1)-(G11*G2)
P1 = PP/DET+PO
R1 = RP/DET+RO

IF ((ABS(P1-P0).LT.0.001).AND.(ABS(R1-R0).LT.0.001)) THEN

GOTO 80
ELSE
PO =Pl
RO = R]
END IF
IF (IC.GE.MAX) THEN
NOTG = 'Y’
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GOTO 96
END IF
20 CONTINUE
80 XMEWI =Pl
XSIG1 =R1
90 RETURN
END

c.l....‘!.!l.ll-ll‘l.ll!'.ll.'

C  COMPUTING VALUE G
Corserasntesrassrenserersnanks
SUBROUTINE COMPG1(P0,R0,BEG1, BEG2,BEG1 1,BEG12,BEG22)
COMMON/FACT/XD XM,N
*  /INDEX/DIFG,NOTG
CHARACTER DIFG*1,NOTG*1
ZM = (ALOG(XM)-PO)RO
ZD = (ALOG(XD)-PO)RO
ZCl = CDFN(ZM)
ZC2 = CDFN(ZD)
ZC = ZC1ZC2
IF (ZC.EQ.0) THEN
DIFG = 'Y’
GOTO 99
END IF
ZP1 = PDFN(ZM)
ZP2 = PDFN(ZD)
PGl = ZP1-ZP2
PG2 = ZM*ZP}-ZD*ZP2
PG3 = RO*ZC
PG4 = (RO**2)*ZC
BEGI = N*PG1/PG3
BEG2 = N*PG2/PG3
BEG11 = (PG2+(PG1**2)/ZC)*N/PG4
BBEGI12 = (ZM**2-1)*ZP1-(ZD**2-1)*ZP2
BEGI12 = N*(BBEGI12+PG1*PG2/ZC)/PC4
BBEG22 = ZM*(ZM**2.2)*ZP1-ZD*(ZD**2-2)*ZP2
BEG22 = N*(BBEG224PG2**2/ZC)PC4



99

RETURN

END

CrE*S2AIFRAVERSPRREFEPENBRAIRKBFSRNGRRSRRIRAN

c
C
C
Cres

ESTIMATION OF THE PARAMETERS BY
METHOD OF MINIMUM DISTANCE
FOR LOGNORMAL DIST.

RESHEERNESRSERNBRESNREBURRGBRIPREREIE SRS

SUBROUTINE MDE(MAX XMEW?2,XSIG2)

COMMON/PARI/AMEW SIGMA XMEW0,XSIG0

»

»

.

[FACT/XD XM ,N
/SAMP/X(500)

/SIM/FQ(500),F(500)
AINDEX/DIFG,NOTG

CHARACTER DIFG*1,NOTG*1
P10 = XMEWO

R10 = XSIGO

IC1 =0

DO 20 J1=] MAX

IF (R10.LE.0) THEN
DIFG = 'Y’
GOTO 90

END IF

. GG1=0.0

GG2=0.0

GG11=0.0

GG12=0.0

GG21=0.0

GG22=0.0

SDF1=0.0

SDF2=0.0

SDF11=0.0

SDF12=0.0

SDF21=0.0

SDF22=0.0

IC1=IC1+1
ZIM = (ALOG(XM)-P10)R10
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Z1D = (ALOG(XD)-P10)R10
ZIC] = CDFN(Z1M)
Z1C2 = CDFN(Z1D)
ZIC = ZIC1-ZIC2
IF (Z1C.EQ.0) THEN
DIFG = 'Y"
GOTO 90
END IF
Z1P1 = PDFN(ZIM)
Z1P2 = PDFN(Z1D)
P1G1 = Z1P2-Z1P1
P1G2 = Z1D*Z1P2-ZIM*Z1P1
P1G3 = (Z1D**2)*Z1P2-(ZIM**2)*Z1P]
P1G4 = (Z1D**3)*Z1P2-(ZIM**3)*Z1P]
P1GSS = R10%(Z1C**2)
P1G56 = (R10*Z1C)**2)*Z1C
DO 10 IM=1 N
P1X1 = F(IM)
IF (P1X1.EQ.0) THEN
DIFG = 'Y’
GOTO 90
END IF
Z1X = (ALOG(X(IM))-P10)R10
Z1C3 = CDFN(ZIX)
Z1P3 = PDFNZ1X)
PIGS = Z1P2-Z1P3
PIG6 = Z1C3-Z1C2
F1YX = P1G6/Z1C
F1Y = FIYX-PIXI
P1G7 = Z1D*ZIP2-Z1X*Z1P3
P1G8 = (ZI1D**2)*Z1P2-(Z1X**2)*Z1P3
P1G9 = (Z1D**3)*Z1P2-(Z1X**3)*Z1P3
DFM = (ZIC*P1G5-P1G6*P1G1)P1GSS
DFS = (Z1C*P1G7-P1G6*P1G2)/P1GSS
DFMM = (Z1C*(Z1C*P1G7-P1G6*P1G2)-2*P1G1
. *(Z1C*P1G5-P1GG*P1G1)/P1GS6
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DFMS = (Z1C*(Z1C*(P1G8-P1GS5)+P1G1*P1G7
. -P1G6*(P1G3-P1G1)-P1G5*P1G2)
. -2*P1G1*(Z1C*Pi1G7-P1G6*P1G2))/P1G56
DFSS = (ZIC%(Z1C*(P1G9-P1G7)-P1G6*(P1G4-P1CG2))
* -(2*P1G24Z1C)*(Z1C*P1G7-P1G6*P1G2))/P1G56
HIG1 = 2*F1Y*DFM
H1G2 = 2*F1Y*DFS
HIGl11 = 2*(F1Y*DFMM+DFM**2)
H1G21 = 2*(F1Y*DFMS+DFM*DFS)
H1G22 = 2*(F1Y*DFSS+DFS**2)
SDF]1 = SDF1+H1G1
SDF2 = SDF2+H1G2
SDF1] = SDF11+HI1G1l
SDF21 = SDF21+H1G21
SDF22 = SDF22+H1G22
CONTINUE
GGl = SDF1
GG2 = SDF2
GQ@11 = SDF11
GQ21 = SDF2!
GG12 = GQ21
GG22 = SDF22
DET1 = (GG11*GG22)-(GG12*GG21)
IF (DET1.EQ.0) THEN
DIFG = 'Y’
GOTO 90
END IF
PPl = (GG12*GG2)-(GG22*GG1)
RP} = (GG21*GG1)<(GG11*GC2)
P11 = PP1/DET14P10
R1l = RP1/DET1+R10
IF ((ABS(P11-P10).LT.0.001).AND.(ABS(R11-R10).LT.0.001)) THEN
GOTO 80
ELSE
P10 = P11
R10 = R11
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END IF
IF (IC1.GE.MAX) THEN
NOTG = 'Y’
GOTO 90
END IF
20 . CONTINUE
80 XMEW2 =Pl1
XSI1G2 = R11
90 RETURN
END
Cttll‘lt..l‘tttt.tll!OQ-‘.“l“tttt.l.‘ttl!’l
C ESTIMATION OF THE PARAMETERS BY
C  METHOD OF MINIMUM WEIGHT DISTANCE
c FOR LOGNORMAL DIST.
CHreanssssassrvassrbonbestossansssssssssoses
SUBROUTINE MWD(MAX XMEW3 XSIG3)
COMMON/PARI/AMEW SIGMA XMEW0 XSIGO
* FACT/XD XM N
*  /SAMP/X(500)
*  /SIM/FQ(500),F(500)
*  /INDEX/DIFG,NOTG
CHARACTER DIFG*1,NOTG*1
P20 = XMEWO0
R20 = XSIGO
IC2=0
DO 20 J2=t MAX
IF (R20.LE.0) THEN
DIFG = 'Y’
GOTO 90
END IF
GGG1=0.0
GGG2=0.0
GGG1120.0
GGG12=0.0
GGG21=0.0
GGG22=0.0



SDI1=0.0
SD12=0.0
SDI11=0.0
SDI120.0
SDI21m0.0
$DI22=0.0
IC2=1C2+1
Z2M = (ALOG(XM)-P20)/R20
Z2D = (ALOG(XD)-P20)/R20
Z2C1 = CDFN(Z2M)
Z2C2 = CDFN(Z2D)
Z2C = 72C1-22C2
IF (Z2C.EQ.0) THEN
DIFG = 'Y’
GOTO 90
END IF
Z2P1 = PDFN(Z2M)
Z2P2 = PDFN(Z2D)
P2G1 » Z2P2-Z2P1
P2G2 = Z2D*Z2P2.Z2M*Z2P1
P2G3 » (Z2D**2)*Z2P2-(Z2M**2)*Z2P1
P2G4 = (Z2D**3)Z2P2-(Z2M**3)*Z2P]
P2GSS = R20%(Z2C**2)
P2G56 = ((R20°Z2C)**2)*Z2C
DO 10 IMM=i1,N
P2X1 = FAMM)/N+1)
P2X11 = N*P2X1
P2X12 = 1.0-P2X11

IF ((P2X11.EQ.0).0R.(P2X12.EQ.0)) THEN

DIFG = 'Y’
GOTO %0
END IF
P2X22 = P2X1*P2X12
Z2X = (ALOG(X(IMM))-P20)/R20
Z2C3 = CDFN(Z22X)
Z2P3 = PDFN(Z2X)
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P2GS = Z2P2-Z2P3
P2G6 = Z2C3-22C2
F2YX = P2G6/Z2C
F2Y = F2YX-P2X11
P2G7 = Z2D*Z2P2-Z2X*Z2P3
P2G8 = (Z2D**2)%Z2P2<(Z2X**2)*Z2P3
P2G9 = (Z2D**3)*Z2P2-(Z2X**3)*Z2P3
DIM = (Z2C*P2G5-P2G6*P2G1)/P2GSS
DIS = (Z2C*P2G7-P2G6*P2G2)/P2GSS
DIMM = (Z2C~(Z2C*P2G7-P2G6*P2G2)
*  .2%P2GI%(Z2C*P2GS-P2G6*P2G1))/P2GS6
DIMS = (Z2C*(Z2C*(P2G8-P2GS)+P2G1*P2G7
*  .P2G6%(P2G3-P2G1)-P2G5*P202)
. -2*P2G1*(Z2C*P2G7-P2G6*P2G2))/P2G56
DISS = (Z2C*(22C*(P2G9-P2G7)-P206* (P2G4-P2G2))-(2°P2G2+4Z2C)
. *(Z2C*P2G7-P2G6*P2G2))P2GS6
H2Gl = 2*F2Y*DIM/P2X22
H2G2 = 2*°F2Y*DIS/P2X22
H2Gl1 = 2%(F2Y*DIMM+DIM**2)/P2X22
H2G21 = 2*(F2Y*DIMS+DIM*DIS)/P2X22
H2G22 = 2*(F2Y*DISS+DIS**2)/P2X22
SDII = SDI1+H2G1
SDI2 = SDI2+H2G2
SDI11 = SDI11+H2G11
SDI21 = SDI21+H2G21
SDI22 = SD22+4H2G22
10 CONTINUE
GGG1 = SDII
GGG2 = SDI2
GGGl1 = SDI11
GGG21 = SDI2]
GGG12 = GGG21
GOG22 = SDI22
DET2 = (GGG11*GGG22)-(GGG12*GGG21)
IF (DET2.EQ.0) THEN
DIFG = 'Y’
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GOTO 90
END IF
PP2 = (OGG12*GGG2)-(GGG22GGG1)
RP2 = (GGG21*GGG1)-(GGG11*GGG2)
P21 = PP2/DET2+P20
R21 = RP2/DET24R20
IF ((ABS(P21-P20).LT.0.001).AND.(ABS(R21-R20).LT.0.001)) THEN
GOTO 80
ELSE
P20 = P21
R20 = R21
END IF
IF (1C2.GE.MAX) THEN
NOTG = 'Y"
GOTO %0
END IF
20 CONTINUE
80 XMEW3 = P21
XSIG3 = R21
90 RETURN
END

Tusunsugesdimadszanummindines 3 38fs ML; MD. unz MWD vsq

msonussnnudemsiuladedn dail
COlll*lllt‘.lllllll‘l‘t.li'0.....*.!!0.0....‘!"
C  ESTIMATION OF THE PARAMETERS BY
C METHOD OF MAXIMUM LIKELIHOOD
Cc FOR LOGISTIC DIST.
COararErasanINsEEOsIESSRRRSEIBRRRSOPIAORENRES
SUBROUTINE MLE(MAX,ALPHA1,BETA1)
COMMON/PAR3/ALPHA BETA ALPHAO,BETAO.
*  [FACT/XDXM,N
% /SAMP/X(500)
. NINDEX/DIFG NOTG,DIG
CHARACTER DIFG*1,NOTG*1,DIG*1
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PO = ALPHAO
RO = BETAO
IC=0 ‘
DO 20 =1 MAX
CALL COMPG3(PO.R0,BEG1,BEG2,BEG11,BEG21,BEG22)
IF ((DIFG.EQ.'Y").OR.(DIG.EQ.'Y")) GOTO 90
Ol=0.0
G2=0,0
G11=0.0
G21=0.0
022=0.0
SDIF1=0.0
SDIF2=0.0
SDIF11=0.0
SDiF21=0.0
SDIF22«0.0
[C=IC+]
DO 10 I=i N
C = (X(1)-PO)RO
Cl = -1*C
C2 = EXP(C1)
FX = [(1+C2)
FXX = (C2*FX/R0)*FX
PHI = (1-C2)*FX
ALFX = PHIRO
BEFX = (C*PH1-1)/RO
AZFX = (-2*FXX+((PH1**2)/R0))/R0
DIFI1 = A2FX-ALFX**2
| PH21 = -2*C*FXX-ALFX
PH22 = BEFX*PHI
ABFX = (PH214PH22)R0
DIF21 = ABFX-ALFX*BEFX
PH31 = C2*FX
PH32 = C*(-PH31-PH1*PH31)-PH1
PH33 = C*PH32/RO
PH34 = BEFX-(1/R0)



PH3S = BEFX*RO*PH34
B2FX = (PH33+PH3S)R0
DIF22 = B2FX-BEFX**2
SDIF1 = SDIFI+ALFX
SDIF2 = SDIF24BEFX
SDIF1{ = SDIF114DIF11
SDIF21 = SDIF214DIF2]
SDIF22 = SDIF22+DIF22
10 CONTINUE
Gl = SDIF1+BEGI
G2 = SDIF24BEG?2
Gl1 = SDIF114BEG11
G21 = SDIF214BEG21
G12 = G21 k
G22 = SDIF224BEG22
' DET = (G11*G22)-(G21°G12)
IF (DET.EQ.0) THEN
DIFG = 'Y’
GOTO 90
END IF
PP = (G12*G2)-(G22*G1)
RP = (G21°G1){(G11*G2)
P1 = PP/DET+PO
Rl = RP/DET+R0O

IF ((ABS(P1-P0).LT.0.001).AND.(ABS(R1-R0).LT.0.001)) THEN

GOTO 80
ELSE
PO = P!
RO = R1
END IF
IF (IC.GE.MAX) THEN
NOTG = 'Y’
GOTO 90
END IF
20 CONTINUE
80 ALPHAI = Pl
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BETAl = R1
90 RETURN
END

c“‘l...""l.l.‘l..l‘ﬂ“‘.t‘.

C  COMPUTING VALUE G
Crrensaansnsssanrencisnenerer
SUBROUTINE COMPG3(PO,R0,BEG1 BEG2,BEG11,BEG21,BEG22)
COMMON/FACT/XD XM,N
*  /INDEX/DIFG,NOTG,DIG
CHARACTER DIFG*1 NOTG*1,DIG*1
A = (XD-POYRO
B = (XM-PO)RO
Al = -1%A
Bl = -1*B
A2 = EXP(AL)
B2 = EXP(BI)
FD = 1(14A2)
FM = 1{14B2)
F1 = FM-FD
IF (F1.EQ.0) THEN
DIFG = Y"
GOTO 99
END IF |
ALFM = (-B2*FM/RO)*FM
ALFD = (-A2*FD/RO)*FD
ALF = ALFM-ALFD
_ BEFM = ALFM*B
BEFD = ALFD*A
BEF = BEFM-BEFD
PGI = (1-B2)*FM
A2FM = ALFM*PGI/RO
PG2 = (1-A2)*FD
A2FD = ALFD*PG2/RO
A2F = A2FM-A2FD : )
PGI1 = BI*PC1
PG21 = PG1141
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ABFM =.1*ALFM*PG21/RO
PGI2 = A1*PG2
PG22 = PG1241
ABFD a -1*ALFD*PG22/R0
ABF = ABFM-ABFD
PG41 = B*BEFM*PG1/RO
PGS} = -2*BEFM/RO
B2ZFM = PG41+PGS1
PG42 = A*BEFD*PG2/RO
PGS2 = -2%BEFD/RO
B2FD = PG424PG52
B2F = B2FM-B2FD
BEGI = -N*ALFFI
BEG2 = -N*BEFFF1
PG3 = (ALFFI)*ALF
" PG4 = A2F-PG3
BEG11 = -N*PG4/F1
PGS = (ALF/F1)*BEF
PG6 = ABF.PGS
BEG21 = -N*PG6/F1
PG7 = (BEF/F1)*BEF
PGS = B2F.PG7
BEG22 = -N*PG8/F1
99 RETURN
END
Cestasnansasynsesasashsnsnssssreastansronsans
C  ESTIMATION OF THE PARAMETERS BY
c METHOD OF MINIMUM DISTANCE
c FOR LOGISTIC DIST.
Ctlitl.-‘l“UOI..l“l‘l'lllt‘!.l'..“..l"."
SUBROUTINE MDE(MAX ALPHA2,BETA2)
COMMON/PARS/ALPHA BETA,ALPHAO,BETAO
*  [FACT/XDXMN
*  /SAMP/X(500)
*  /SIM/FQ(S00),F(S00)
*  /INDEX/DIFG,NOTG,DIG
CHARACTER DIFG*1 NOTG*1,DIG*!
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P10 = ALPHAO
R10 = BETAO
ICl =0
DO 20 J1=1,MAX
GG1=0.0
GG220.0
GG11=0.0
GG12=0.0
GO21=0.0
GG22=0.0
SDF1=0.0
SDF20.0
SDF11=0.0
SDF12=0.0
SDF2120.0
SDF22=0.0
IC1aICl41
CIM = (XM-P10)R10
DIM = (XD-P10)R10
ClIM = -1%CIM
DI1M = -1*DIM
C21M = EXP(CIIM)
D21M = EXP(D!IM)
FIM = 1(14CZ1M)
FID = 1/(1+D21M)
F11 « FIM-F1D
IF (F11.EQ.0) THEN
DIEG ='Y"
GOTO 90
END IF
ALIFM = (-C2IM*FIM/RI10)*FIM
ALIFD = (-D2IM*FID/R10)*F1D
ALIF = ALIFM-ALIFD
BEIFM = ALIFM*CIM
BEIFD = ALIFD*DIM
BEIF = BEIFM-BEIFD
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Pil = (1-C2IM)*FIM
A21FM = ALIFM*PJ1/R10
PJ2 = (1-D21M)*FID
AZIFD = ALIFD*PJ2/R10
A21F = A21FM-A21FD
PI11 = C11M*PII
P12} = PJ11+1
ABIFM = -1*ALIFM*PJ21/R10
PJ12 = D11M*PJ2
PJ22 = PI1241
ABIFD = -1°ALIFD*PJ22/R10
ABIF = ABIFM-ABIFD
PJ4] = CIM*BEIFM*PJIR10
PJS1 = -2*BEIFM/R10
B21FM = PJ414PJS)
PJ42 = DIM*BEIFD*PJ2/R10
PJ52 = -2*BEIFDRI10
B21FD = PJ42+PJ52
B21F = B2IFM-B2IFD
DO 10 IM=1,N
PIX1 = F(IM)
IF (P1X1.EQ.0) THEN
DIFG = 'Y
GOTO %0
END IF
QIM = (X(IM)-P10)R10
QIIM = -1*QIM
Q2IM = EXP(Q11M)
FIX = 1(14Q21M)
F21 = FIX-FID
F1YX = F21/F11
F1Y = FIYX-PIX]
ALIFX = (-Q21M*FIX/R10)*F1X
ALIIF = ALIFX-AL1FD
BEIFX = ALIFX*QIM
BE11F = BEIFX-BEIFD
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PJ3 = (1-Q21M)*F1X
A21FX = ALIFX*PI3R10
A2LIF = A2IFX-A21FD
PJ13 = QIIM*PJ3
PJ23 = PJ13+1
ABIFX = -1*ALIFX*PJ23R10
ABLIF = ABIFX-ABIFD
PJ71 = QIM*BEIFX*PI3/R10
PI81 = -2*BE1FX/R10
B21FX = PJ71+PJ81
B211F = B21FX-B21FD
DFA = ((F11*AL11F-F21*AL1F)F11)F11
DFB = ((F11*BE{ 1F-F21*BEIF)F11)Fl1
DFAA = (((F11*A211F-F21*A21F)F11)F11)
2*ALIFF1{*DFA ‘
DFAB = ((F11*AB11F+BE11F*ALIF-F21*ABIF
-BEIF*AL11F)/F11)F11-2*ALIF/F11°DFB
DFBB = ((F11*B211F-F21*B21F)F11)F11
-2*BEIFF11*DFB
HIGI = 2*F1Y*DFA
H1G2 = 2*F1Y*DFB
HIG1] = 2*(F1Y*DFAA+DFA**2)
H1G21 = 2*(F1Y*DFAB+DFA*DFB)
H1G22 = 2*(F1Y*DFBB+DFB"**2)
SDF1 = SDF14H1G1
SDF2 = SDF24H1G2
SDF11 = SDF114H1G11
SDF21 = SDF21+H1G21
SDF22 = SDF22+4H1G22
CONTINUE
GG! = SDF1
GG2 = SDF2
GG11 = SDF11
GG21 = SDF21
GG12 = GG21
GG22 = SDF22
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DET! = (GG11*GG22)-(GG12¢Ga21)
IF (DET1.EQ.0) THEN
DIFG = 'Y’
GOTO 90
END IF
PPl = (GG12*GG2)-(GG22°GG1)
RP1 = (GG21*GG1)-(GG11%GG2)
P11 = PPI/DETI+P10
R11 = RPI/DET1+R10
IF ((ABS(P11-P10).LT.0.001).AND.(ABS(R11-R10).LT.0,001)) THEN

GOTO 80
ELSE

P10 = P11
R10 = R11

END IF

"~ IF (IC1.GE.MAX) THEN
NOTG = 'Y’
GOTO 90

END IF

20  CONTINUE
80 ALPHA2 =PIl
BETA2 = RI1
9 RETURN
END
Cltlttllll‘i‘lllltll!lllt.l.!‘l.‘l“.U.!‘."l
C  ESTIMATION OF THE PARAMETERS BY
C  METHOD OF MINIMUM WEIGHT DISTANCE
C FOR LOGISTIC DIST.
Coosinasastarssntbensnassrsseshnserssessrsons
SUBROUTINE MWD(MAX ,ALPHA3,BETA3)
COMMON/PAR3/ALPHA BETA ALPHA0,BETA0O
*  [FACT/XDXM\N
> [SAMP/X(500)
*  /SIM/FQ(500),F(500)
*  INDEX/DIFG,NOTG,DIG
' CHARACTER DIFG*1,NOTGM,DIG* !



P20 = ALPHAD
R20 = BETAOQ
IC2=0
DO 20 J2=1, MAX
GGG1=0.0
GGG2=0.0
GGG11=0.0
' GGG12=0.0
GGG21=0.0
GGG22m0.0
SDI1=0.0
SD12=0.0
SDI11=0.0
SDI12=0.0
SDI21=0.0
S$DI22=0.0
1C2=1C2+1
C2M = (XM-P20)/R20
D2M = (XD-P20)/R20
CI2M = -1*C2M
DI2M = -1*D2M
C22M = EXP(CI2M)
D22M = EXP(D12M)
F2M = 1(14C22M)
F2D = 1K1+D22M)
F12 = F2M-F2D
IF (F12.EQ.0) THEN
DIFG ='Y’
GOTO 90
END IF
AL2FM = (-C22M*F2M/R20)*F2M
AL2FD = (-D22M*F2D/R20)*F2D
ALIF = AL2FM-AL2FD
BE2FM = AL2FM*C2M
BE2FD = AL2FD*D2M
BE2F = BE2FM-BE2FD
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PKI = (1-C22M)*F2M
A22FM = AL2FM*PKI/R20
PK2 = (1-D22M)*F2D
A22FD = AL2FD*PK2/R20
A22F = A22FM-A22FD
PKil = C12M*PK1
PK2] = PK11+1
AB2FM = -1*AL2FM*PK21/R20
PK12 » D12M*PK2
PK22 = PK12+1
AB2FD = -1*AL2FD*PK22/R20
AB2F = AB2FM-AB2FD
PK4] = C2M*BE2FM*PK1/R20
PKS1 = -2*BE2FM/R20
B22FM = PK414PKS1
PK42 « D2M*BE2FD*PK2/R20
PKS52 = -2*BE2FD/R20
B22FD = PK424PK52
B22F = B22FM-B22FD
DO 10 IMM=1,N
P2X1 = F(IMM)AN+1)
P2X11 = N*P2X1
P2X12 = }-P2X11
IF ((P2X11.EQ.0).0R.(P2X12.EQ.0)) THEN
DIFG = 'Y’
GOTO 90
END IF
P2X22 = P2X1*P2X12
Q2M = (X(IMM)-P20)/R20
QI2M = -1*Q2M
Q22M = EXP(Q12M)
F2X = 1K14Q22ZM)
F22 = F2X-F2D
F2YX = F22/F12
F2Y = F2YX-P2X11
AL2FX = (-Q22M*F2X/R20)*F2X
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AL22F = AL2FX-AL2FD
BE2FX = AL2FX*Q2M
BE22F = BE2FX-BE2FD
PK3 = (1-Q22M)*F2X
A22FX = AL2FX*PK3/R20
A227F = A22FX-A22FD
PK13 = Q12M*PK3
PK23 = PK13+1
AB2FX = -1*AL2FX*PK23/R20
AB22F = AB2FX-AB2FD
PK71 = Q2M"BE2FX‘PK3/R20
PK81 = -2*BE2FX/R20
B22FX = PK714PX81
B222F_-‘ = B22FX-B22FD
DIA = ((F12*AL22F-F22*AL2F)/[F12)/F12
DIB = ((F12*BE22F-F22*BE2F)F12)/F12
DIAA = ((F12*A222F-F22*A22F)/F12)/F12)
* -2*AL2F/F12*DIA
DIAB = ((F12*AB22F+BE22F*AL2F-F22*AB2F

*  .BE2F*AL22F)FI12)F12-2°AL2F/F12*DIB

DIBB = ((F12*B222F-F22°B22F)/F12)/F12-2° BE2F/F12* DIB
H2G1 = 2*F2Y*DIA/P2X22
H2G2 = 2*F2Y*DIB/P2X22
H2011 = 2%(F2Y*DIAA +DIA *%2)/P2X22
H2G21 = 2*(F2Y*DIAB+DIA *DIB)/P2X22
H2G22 = 2°(F2Y*DIBB+DIB**2)/P2X22
SDI1 = SDI1+H2G1
SDI2 = SDI2+H2G2
SDIl1 = SDI11+H2G11
SDI21 = SDI21+H2G21
SDI22 = SDI22+H2G22
CONTINUE
GGO! = SDI!
GGO2 = SDI2
GGGI1 = SDI11
GGG21 = SDI21
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GGG12 = GGA21
GGG22 = SDI22
DET? = (GGG11*GGG22)-(G0G12*GGG21)
IF (DET2.EQ.0) THEN
DIFG = 'Y’
GOTO 90
END IF
PP2 = (GGG12*GGA2)-(GAG22°GGA1)
RP2 = (GGG21*GGG1)-(GGG11*GGG2)
P21 = PP2/DET24P20
R21 = RP2/DET24R20
IF ((ABS(P21-P20).LT.0.001). AND.(ABS(R21-R20).LT.0.001)) THEN
GOTO 80
ELSE
P20 = P21
R20 = R21
END IF
IF (IC2.GE.MAX) THEN
NOTG = 'Y"
GOTO 90
ENDIF
20 CONTINUE
80 ' ALPHA3 = P21
BETA3 = R21
90 RETURN
END
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